L =X BRiER

10 - 20 - 30 - 40X DER SHM6EIATH
E | = % ouT IN |TtoTaL| HDcP | NET
B B LKA 39 36 75 2.4 72.6
#EH HE SETF 44 43 87 14.4 72.6
3 fu| ®EERE 46 47 93 18 75
4 | TEEmE 51 47 98 22.8 75.2
5 fi| fRIEEE 51 46 97 21.6 75.4
B-B| ##a Et 66 63 129 36 93

50iZ L DEB
E | = % ouT IN |TtoTaL| HDCcP | NET
& Bs| w0 K—EB 46 43 89 15.6 73.4
Em KRR 46 42 88 13.2 74.8
3 fu| Rl BE 53 41 94 19.2 74.8
4 | FEHMBEE 48 43 91 15.6 75.4
5 fi| ER HE 54 56 110 33.6 76.4
B-B| FERE 57 56 113 30 83

60iZILDER
E | = % ouT IN |TtoTaL| HDCcP | NET
B W= 48 48 96 25.2 70.8
@ EEE A 39 41 80 8.4 71.6
3 fu| EHEE— 44 43 87 14.4 72.6
4 | R BSF 41 42 83 9.6 73.4
5 fir| R Bk 38 38 76 2.4 73.6
B-B| #7 #A 62 51 113 25.2 87.8
70 - 80X DER
E | = % ouT IN |TtoTaL| HDCcP | NET
B B| BARE 49 47 96 27.6 68.4
@ BNl BT 38 35 73 2.4 70.6
3 fu| A EE 36 37 73 2.4 70.6
4 fi| I RB 45 42 87 15.6 71.4
5 fii] ZHEZEA 36 46 82 9.6 72.4
B-B| E# g 56 52 108 27.6 80.4



